AW B U 2= #H BH =B
IEZENDEZF ERAVTFOREE =HERETIS
B 5 2 % oIS
A A BT H &% 6% 8H 8H
A B BATR AT2 20283=
1 AN (E7:[)
IEFD| HEELEEOBWSXE | A4 & 8 (B K &) te 2 Lt F € itk EHEOES EHL 25
2 2| % o Z1m Zom AR LIs (Bith=) X 1E & (BiAF)
BRod =74
I\ = B8]\
RERRE KA %S 40,1080 BB TETHBCE
BXait ARED PR S BREELEH,SHEIA
REIEHE EE Eth 097 BELHNDEELEERT S,
ket Fo—
REDWE 2o 9k 44200000
ﬁgﬁgéiﬁﬁg * SH0,000 Bten
CERIERE § T xE a—
621128 42,401,000 ﬁﬁ;ﬁfﬁ A B 44,330,000
(& D)

1

FREMEIE. HEBRKRZOSETES

2 TAHZEHIT ALENRBEL - LUF L LBECHBRIKE DS TR
3 TENZHEIL ALEN REE - 2HUHLLEED1000)1101248 HYORBECHERAADSELE) THH




62112

2 ZHEE (M)
ZHOMEEAHO L # . "
248 B3  BEXZEAFE| 2BeE — IS% 08 H I % = @ = B R#WESG- B A
(63 * i & F 58 53 Iz & = =3
£ A B £ B B
HERL=455m IBEW=404 1)m. B @BEL
A=239.5m, B E 1S T (L &L - $550)
h BB (Bt Uﬁ{ﬂm{]&gtﬂ}% 1
R i - s = | )L=15.0m. FTERHTA=186.2n, 152
SH6E8F19H 44,330,000| $#164E8H 198 SH74E38318 M R REBEBT Ntz
E E # o I #
EEZHA T E & £ — I X% R I k-3 % i = I 2] 22}
% F 52 53
£ A B £ A B8
0
#X&H Fa-— r EBE #%# O I #
EEZHE rE & 45 % F3 = % IE %0 HBm I k-3 % i 3 x -3 22}
REREFE FD Bl £ B @ £ B g
—EARTE
0
r EBE # 0o I #
EEZ2HA EE S E — IE%Z0Hm I 3 = 4 k-3 z = ]
& F 52 73
£ A 8 £ A H
0
E B % o I #
EEZHAB T E & — IE%Z 0B K T = % % E 3 = ]
& ES 52 |5
£ B B £ B H
0

(@ LDEE]

MERRH L, SHRBEEORRBEREL. ONICIEELOLHEERHT 2,




